S PYiE 5 = Y8 HR S,

RPH3-06

RES S EhiEH]

061 1% (D03) * Q 80 I/min (21 GPM) * p__ 350 bar (5100 PS))

oH H>
—H Hw

I1SO 4401-03-02-0-05
4xM5-6Hx13

0,75 (0.03)

127 (0.50)

405 (1.59)

215 (0.85)
30,2 (1.18

5,1(0.20)
155 (0.61)

259 (1.16)
31(1.22)

P,A, B, TH
i KAE @7.5 mm (0.29 in)

W s A BB A m i, AR AR R ST AF & 1S0 4401, DIN 24340 (CETOP 03)
{350 bar 3N B SRR AEG S, IS DA/ M R R
F BT LAk e AR X RE 1 32 1)

e DIREE 7 BUOTprie

WERAERR A ERIE A M10x1, G1/8, G1/4

» BRI H DRI 7 Y B (I5E R SUA 2 bar (29 PSI)

@jé?ﬁ/%ﬁu B AR 2L B AL EE | A THE AR AL B T AR 32150 92275 3E N 11 240 h £h 21
1
» FHTF R s P s R S T AR 3P I RT LAZR 32150 9227881 1Y 520 h Fh &I

BT 1P

TR BRI [0 2 B P2 T R AR A T LA A T 170 32 R AR 5 A X o 5 28 S 42 5 L A A
AR, Hr AT i el B A AR e X SR I B =L (S R DR K)o

RS
RGeS 06 (D03)
FE NN T I/min (GPM) 80 (21.1)
P A, B LYEET) bar (PSI) 350 (5080)
TH&wm LIEET) bar (PSI) 160 (2320)
Sl i) bar (PSI) 2(30)
v I i) bar (PSI) 25 (360)
SEFARERN cm? (cu.in) 6,2 (0.38)
A BT (T RESK) °C (°F) -30...+100 (-22 ... +212)
A FE VR (R IK) °C (°F) -20...+120 (-4 ... +248)
el iﬁﬁ%ﬁhﬁ%ﬁﬁﬁ kg (Ibs) 1.8 (3.96)

S B T 1 2.5 (5.50)

BT T B 26780

ARG R GI_0060 7 iE B TR
LN R | VR 2 SMT_0019 061l %
& SP_8010

I 2% 72 v =32 mm?/s (156 SUS) FIllE
TAEMIR JERE-m A i 2%

AR 7 T P AR AT i £ )23 A AR R

= (5076) 7350 p % (464) 1 32 /
S (4351) 1 300 = (406) | 28 5/ 4/
5 \ 4 3 (348) 1 24
2 (3626) 1 250 4 =2 / 3
- N \e 2 (290)- 20 A
R (2901) 200 <
H 3 ¥ (232) 16 ;
& (2176)1150 —— s H 174 12
= 1450 { 100 (116) | 8
(725) | 50 (88) 7 4 %/
0 10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80
[ I I I I I I I 1
2.6) (8.0) (13.2) (159) @11 (2.6) (5.3) (10.6) 159  (21.1)
it Q [I/min (GPM)] it Q [I/min (GPM)]
P-A P-B AT BT PT P-A P-B AT BT PT
Z11,P11,Y11,B11,R11, Z11,121,B11,
A51,P51,X11,J15, 175 1 RITX11,015 2 2 3 3 Y 2 12 12 2
C11,Y51 2 cn 4 4 |4 5 3 A51,J75 2 |2
H11 3 H11 2 2 2 2 3 P51 103
L21 4 P11 11 3 3 Y51 2 2

TR AT AR S A S A o B LAEMIR, 35 IR A AR ER ]
PR BN 25 VF CAEAR PR £ ] BRI (A 51 B EHK IR, B i)
Subject to change - RPH3-06_4006_1cn_02/2016




HME R AT Bk 22k (4t
PAPA TG ) A 2" ©$9,5(0.37) BURA T3 =A% 6]
_I | (l E ] T
Q14 !
= 1 =]
Sk | 3 E
= - ‘ ™
= H ) 1 &
253 ©21) 8(0.31)
123 (4.84)
AP T I AL, b : :
H 77777 B g
BARYT oD | <
'M10x1,G1/8  15(0.59) 8 (0.31)
B 123 (4.84)
WS HLRERF 5
eyl HENLRE

52 62 | 52 | 52 | B2 | BB | <
BEREE
04 | i | td i
= | | = E%
= | 4| B2 | B —
e e [ s [ [ e e R s

T B

AP RSt A AP

WA B e

RPH3-06

[pGEEES

e AR
—fr
=

]

w N

REHLRERF S

Lttt LSRR

[pS

1
2
3

Eap G
FRIfER
BEEE (ZnCr-3), 1SO 9227 (240 h)
HEAE (ZnNi), 1SO 9227 (520 h)

wE
TSR
G L

AKEWIE:N
bl
B

T AL 4 =X
M10x1
G1/8
G1/4

Z2RENE S M5 x 45 DIN 912-10.9 B A&/ Bl 43 13T
AN HADAE IR R S PR o I IR AT A T LASRAG K 2 i 11

www.argo-hytos.com

S G HA 8010, F

Subject to change - RPH3-06_4006_1cn_02/2016

J15E0 8.9 Nm (6.56 Ibfft). B 1412814, & FH I
AT SR AR, TAEAR PR

Page 105

©45,5(1.79)

493 (36.4)




